AN

> H n N 5 n 5171210174 HANSADESIGNO - Umyvadlova batéria

EAN: 4015474058941
statichansa.com/5171210174

Nahradné diely
N 1
SP51712101
Nazov Kod
1 Ovladacia rukovat, (-2009) Chrém 59912466
o 11 Skrutka, M5x8, SW2.5 59904755
12 Klzné puzdro 59904778
14 0-krazok, d 6x1 59912136
15 Krytka Chrom 59912465
2 Krytka Chrom 59912468
3 0cné skrutka, M50x1, SW45 59912469
31 0-kriizok, d 46x2 59912470
4 Kartus, 4.8 eco 59904601
5.1 Ovladacie tiahlo Chrom 59912473
52 Spojovaci diel tiahla 59904624
7 53 Tesnenie, 37x48x3.5 59911422
54 Upeviovacia skrutka, M8x1, L=140 59912474
55 59904765
5.6 Skrutka, M8x1, SW13 59904766
57 Upeviiovaci set 59910749
6 Vytokové rameno 59912475
6.1 Aerator, M22/24 A 59902081
6.3 Aerator a klG¢, M24x1, (2002-) Chrom 59912225
65 , M5X6, SW2.6 59912477
6.6 Vsuvka 59912478
7 Vypastaci ventil umyvadla Chrom 59911441
10 Potrubie 59912471

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/5171210174

